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Question 1

Question Type: MultipleChoice

Which four Openstack projects implement Nuage integration?

Options:

A) Keystone, Heat, Neutron, Nova
B) Ironic, Heat, Horizon, Neutron
C) Cinder, Horizon, Neutron, Nova

D) Ironic, Heat, Neutron, Nova

Answer:

A

Question 2

Question Type: MultipleChoice




What use case does not apply in virtual machine migration?

Options:

A) Optimization of East-West traffic flows.
B) Maintenance and upgrading of the servers.
C) Avoidance of disaster caused by a power outage or hardware failure.

D) Entry saving by shutting sown under-utilized servers after moving all their VNs.

Answer:

Question 3

Question Type: MultipleChoice

What statement is FLASE regarding the forwarding polices used in VCS for traffic redirection (also known as service chaining)?



Options:

A) Forwarding policies can be applied to either ingress or egress traffic.
B) Redirection targets should be created in advanced and associated with vPorts.
C) Redirection targets cannot be associated with host vPort (physical appliances)

D) A forwarding policy can be created in an active domain or be instantiated from a template.

Answer:

C

Question 4

Question Type: MultipleChoice

Which of the following is NOT Nuage metadata required when creating a virtual machine?

Options:

A) Enterprise



B) Subnet
C) VLAN ID
D) User

Answer:

C

Question 5

Question Type: MultipleChoice

What statement is CORRECT regarding the extension of a VXLAN L# domain to a 7750 DCI?

Options:

A) The VXLAN tunnel is from the domain VPRN. The tunnel payload is the IP packet.

B) The VXLAN tunnel is fom the domain VPRN. The tunnel payload is the Ethernet frame.
C) The VXLAN tunnel is from the backhaul BPLS. The tunnel payload is the IP packet.

D) The VXLAN tunnel is from the baclhaul VPLS. The tunnel payload is the Ethernet frame



Answer:

Question 6

Question Type: MultipleChoice

Which two elements of the Nuage VCS solution act respectively as the control and data plane of a virtual router?

Options:

A) VSD and VSC
B) VSC and VRG
C) VSC and VRS
D) VSD and VSG

Answer:

C



Question 7

Question Type: MultipleChoice

What is the function of a Virtualized Services Gateway (VSG)?

Options:

A) To interconnect a VLAN network with a VXLAN network.
B) To interconnect multiple data centers.
C) To extend a data center to the internet.

D) To enable MPLS over GRE tunneling

Answer:

A

Question 8

Question Type: MultipleChoice




What statement about the Nuage 7850 VSG is TRUE?

Options:

A) 1.2 Tbps capacity in 1 RU.
B) It is ideal as a spine router.
C) UP to four Nuage VSGs can be combined into a single chassis.

D) A hypervisor can be connected to two Nuage 7850 VSGs in an active.active MC-LAG

Answer:

Question 9

Question Type: MultipleChoice

What statement is FLASE regarding a virtual machine connected to a DC managed by Nuage VCS?



Options:

A) A Nuage virtual machine can belong to multiple enterprises
B) A Nuage virtual machines can belong to multiple domains.
C) A Nuage virtual machine can belong to multiple zones.

D) A Nuage virtual machine can belong to multiple subnet

Answer:

A

Question 10

Question Type: MultipleChoice

Which of the following is a solution to create virtual is which the server runs the hypervisor as a specialized operating system and, as a
consequence, there is no need for a conventional operating system?

Options:

A) Kernel



B) Container
C) Native hypervisor

D) Hosted hypervisor

Answer:

C

Question 11

Question Type: MultipleChoice

What statement about the relationship between the SDN controller and VTEP devices is correct?

Options:

A) The SDN controller controls VTEP devices using Openflow and tells the VTEP devices which routing/birding protocol to use to
dynamically learn the VTEP forwarding table.

B) The SDN controller collect VM-related information such as MAC and IP, and leads the VTEP devices with this information.

C) The optimal deployment is one SDN controller per VTEP device.



D) The optimal deployment is one SDN controller for all VTEP devices

Answer:

Question 12

Question Type: MultipleChoice

For a packet transmitted using VXLAN encapsulation, where VXLAN header within this packet.

Options:

A) Itis part of the Layer 2 Ethernet header, just like VLAN.

B) It is added between the Layer 2 header and the Layer 3 IP header.

C) It is added between the Layer 3 IP header and the TCP/UDP transport layer header.
D) It is added between the UDP header and the payload

Answer:
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